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ERI364E i 52.6 105. 4 58.9 . 5l.4 49. 1 50.9 - 55.2 64.0
37 . 66.6 10l.7 79.5 65.3 €6.6 62.7 = 66.2 716
38 79. 4 94.7 98.7 6.7 81T 7.8 - 80.7 76. 4
39 91. 1 9%.0  100.7  89.1 - 94.8 88.9 89. 1 93.7 8.7
40 100.0  100.0 100.0  100.0  100.0° 100.0 1000 [00.0  100.0
41 108. 4 $93.3 [1.0. 109. | 102.8 [11.3 104:2  106.7 (1.1
2 114.9 5.9 C120.4  116.3  104.0 115.6  100.4  111.9 122.8
BEFI404E 1 B 95.6 97.2 104, 4 94.2 947 91. 4 88.9 99.3 9.6
T g 95.9 100. 8 105. 1 94.7 94.5 9.5 89. | 99. 3 92.0
3 9.8 99.3 100.6 9.0  96.3 96. 4 88. 9 98.9 93.2
4 i01.6 97.5 96. 4 i02.1  102.9 {00. 4 97.6 1010 109.3
5 100. | 9.6 91.3 [00.7  102.6 100.8 101.6  100.1 100. 0
6 100. 6 102. 4 931 101.2 101.3 102.2 105:8  100.5 99.8
T 101. 4 99.8 100.9 101.6 102.2 - 103. 2 1044 100.2 101.6
8 100.8  100.0 99.6. - 101.3 101.0 101.4  104.3 99.1 101. 1
9 100. 3 1021 92.9 100. 9 101:9 102. 5 103.9 99, 4 101.6
10 100.9 101.6 97.0 101. 4 100. 6 103.3 105. 1 99.8 101.8
1 102.7 {ol.1 107.8 102.7  101.2 103.5 105. 4 101.2 103. 3
12 103. 2 100. 0 1.0 103.2 100.7 103.2  104.4 101.1 104. 4
WBR4IE 1B 103. 1 98. 4 2.7 1026  100.1 {03.8  103.8 1021 = 104.2
2 1036 98: 0 117-2 103.0 97.8 1042 105.9 102.7 - 105.0
3 - 105.0 90:5 119.4 105.3 99.5 106.8 106- 1 103:3 104: 6
4 108. 8 946 1.6 109.1 . 106.1 111.6 110. 1 107.0 (1.7
5 108.7 93i1 107.2 109-3 105.4  111.1 109.7 107.5 1121
6 109. 2 94.6 105. 1 110-3  104.9 1.6 108.9 107. 9 115.9
7 109.8 94.0 109-1 - 110.9 104.8 1128 100.8 109.0 2.1
8 109. 2 - 93.3 102.9  110.5  104. 1 113. 4 100.0 108. 4 112.6
9 108.9 93.6 100.7 . 110.7  10l.8 113.6 100- 5 107.5 113. 1
10 110.1 88.3  110.7 1114 102-8 114.7 101.5 107.5 113.6
11 111.5 90. 4 1189 112.7 103.5 115. 4 101.5 108. 8 113.9
12 112. 4 90.5 121.6 113.6 102-6 116.2 10l 1 108.5 1i4.7
WEFI424E 18 2. 1 93.0 121. | 113.3 100. 5 117.4 99.9 108.3 1i5.3
, 9 11-5 95. 4 120. 4 112.8 97.9 16. 1 100.5 108-6 i15.4
3 1123 95. 4 117.0 113.7 {01.0 [15.4 = 97.5 109. 7 116.7
4 116:0 97.3 1e. | 7.7 107.0 117.0 102.2 112.0 124.8
5 115. 4 96.3 1182 116.9 107.5 117.4 102.7 110.9 195.6
6 116.2 9. 4 1923.5. 117.3 106. 8 118. 4 100.5 1127 195. 4
7 1166 96.8 125.7 1175 107.3 117.6 98.6 118.7 125.2
8 115. 1 9.2 - 192. 4 116. 1 104.3 114.4 99. 4 113.3 125.7
9 115.1 9.6 1195 1164 103. 1 115. | 100. 5 113.7 195.3
10 115.6 95.9 122.7 1169 .103.9 113.4 100.9 1136 124.7
Bt 116. 4 96.2 12301 118.0  104.6 113.8 10l.1 113:5 124.5
12 1166 95.5  125.3 11e.6 104.2 1112 101.5 112-8 124.3
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